# ON GENERALIZED SYMMETRIC $f$-BIDERIVATIONS OF LATTICES 

Malik Anjum Javed and Muhammad Aslam


#### Abstract

In this paper, we introduce the notion of generalized symmetric $f$-biderivation on lattices and investigate some related properties. We characterized the distributive and modular lattices by generalized symmetric $f$ biderivations.


## 1. Introduction

Lattices play an important role in various branches such as information theory, information access controls, information retrieval and cryptanalysis $[\mathbf{6}, \mathbf{3}, \mathbf{1 1}, \mathbf{1 5}]$. After the derivation on a ring was defined by Posner in [14], many researchers studied the derivation theory on various algebraic structures. Recently the notion of derivation introduced in rings and near rings has been studied by various researchers in the context of lattices (see $[\mathbf{1}, \mathbf{2}, \mathbf{3}, \mathbf{8}, \mathbf{1 0}, \mathbf{1 8}]$ ). In $[\mathbf{1}]$, Alshehri introduced the notion of generalized derivation for a lattice and investigated many properties. After the symmetric biderivation defined by Maksa [13], in rings various researchers $[\mathbf{1 5}, \mathbf{1 6}, \mathbf{1 7}]$ studied this notion. In 2009, Y. Ceven et al. introduced symmetric bi-derivations in lattices [9]. Many researchers studied notion of $f$ derivatins in different algebraic structures (see $[\mathbf{1 2}, \mathbf{7}]$ ) and also Chaudhry and Khan [10] introduced the notion of symmetric $f$-biderivations on a lattice and discussed some related properties. In this paper, the notion of generalized symmetric $f$-biderivations, which is more general than the notion of generalized symmetric biderivations on lattices [9], is introduced. We apply this notion to lattices and

[^0]investigate some related properties which are discussed in [9] and using it give characterization of modular and distributive lattices.

## 2. Preliminaries

Definition 2.1. ([4]) Let $L$ be a nonempty set endowed with operations " $\wedge$ " and " $\vee$ ". If $(L, \wedge, \vee)$ satisfies the following conditions for all $x, y, z \in L$ :
(L1) $x \wedge x=x, x \vee x=x$;
(L2) $x \wedge y=y \wedge x, x \vee y=y \vee x$;
(L3) $(x \wedge y) \wedge z=x \wedge(y \wedge z),(x \vee y) \vee z=x \vee(y \vee z)$;
(L4) $(x \wedge y) \vee x=x,(x \vee y) \wedge x=x$,
then $L$ is called a lattice.
Definition 2.2. ([4]) A lattice $(L, \wedge, \vee)$ is called a distributive lattice if one of the following two identities hold for all $x, y, z \in L$ :
(L5) $x \wedge(y \vee z)=(x \wedge y) \vee(x \wedge z)$;
$(L 6) x \vee(y \wedge z)=(x \vee y) \wedge(x \vee z)$.
In any lattice, the conditions ( $L 5$ ) and ( $L 6$ ) are equivalent.
Definition 2.3. ([4]) Let $(L, \wedge, \vee)$ be a lattice. A binary relation $\leqslant$ on $L$ is defined by;

$$
x \leqslant y \text { if and only if } x \wedge y=x \text { and } x \vee y=y
$$

Definition 2.4. ([5]) A lattice $(L, \wedge, \vee)$ is called a modular if for $a, b \in L$ with $a \neq b$, it satisfies the following condition:

$$
x \leqslant b, \text { implies } x \vee(a \wedge b)=(x \vee a) \wedge b \text { for all } x \in L
$$

Definition 2.5. ([8]) Let $(L, \wedge, \vee)$ be a lattice. A mapping $D(.,):. L \times L \rightarrow L$ is called symmetric if $D(x, y)=D(y, x)$ holds for all $x, y \in L$.

Definition 2.6. ([8]) Let $(L, \wedge, \vee)$ be a lattice. A mapping $d: L \rightarrow L$ defined by $d(x)=D(x, x)$ is called trace of $D(.,$.$) .$

Lemma $2.1([\mathbf{1 8}])$. Let $(L, \wedge, \vee)$ be a lattice. Let the binary relation $\leqslant$ be as in Definition 2.3. Then $(L, \leqslant)$ is a partially ordered set (poset) and for any $x, y \in L$, $x \wedge y$ is the g.l.b. of $\{x, y\}$ and $x \vee y$ is the l.u.b. of $\{x, y\}$.

Definition 2.7. ([18]) Let $(L, \wedge, \vee)$ be a lattice. A function $d: L \rightarrow L$ on a lattice $L$ is called a derivation on $L$ if for all $x, y, z \in L$ it satisfies the following condition:

$$
d(x \wedge y)=(d x \wedge y) \vee(x \wedge d y)
$$

Definition 2.8. ([1]) Let $(L, \wedge, \vee)$ be a lattice. A function $D: L \rightarrow L$ on a lattice $L$ is called a generalized derivation on $L$ if there exist a derivation $d: L \rightarrow L$ such that:

$$
D(x \wedge y)=(D x \wedge y) \vee(x \wedge d y)
$$

for all $x, y \in L$.

Definition 2.9. ([10]) Let $(L, \wedge, \vee)$ be a lattice and $D(.,):. L \times L \rightarrow L$ be a symmetric mapping. We call $D$ a symmetric $f$-biderivation on $L$, if for all $x, y, z \in L$ it satisfies the following condition

$$
D(x \wedge y, z)=(D(x, z) \wedge f(y)) \vee(f(x) \wedge D(y, z))
$$

Obviously, a symmetric $f$-biderivation $D$ on $L$ for all $x, y, z \in L$ satisfies the relation

$$
D(x, y \wedge z)=(D(x, y) \wedge f(z)) \vee(f(y) \wedge D(x, z))
$$

We remark that if $D$ is a symmetric $f$-biderivation on a lattice $L$, then the mappings $d_{1}: L \rightarrow L, d_{1}(x)=D(x, y)$ and $d_{2}: L \rightarrow L, d_{2}(y)=D(x, y)$ are $f$ derivations on $L$. Further if $f=1$, the identity on $L$, then symmetric 1-biderivation is a symmetric biderivation on $L$.

Proposition $2.1([\mathbf{1 0}])$. Let $(L, \wedge, \vee)$ be a lattice and $f: L \rightarrow L$ be a mapping. Let $d$ be the trace of symmetric $f$-biderivation $D$, then the following hold for all $x, y \in L$ :
(i) $D(x, y) \leqslant f(x)$ and $D(x, y) \leqslant f(y)$,
(ii) $D(x, y) \leqslant f(x) \wedge f(y)$,
(iii) $d(x) \leqslant f(x)$.

Definition 2.10. [9] Let $(L, \wedge, \vee)$ be a lattice. The mapping $\Delta$ satisfying

$$
\Delta(x \vee y, z)=\Delta(x, z) \vee \Delta(y, z) \text { for all } x, y \in L
$$

is called a joinitive mapping.

## 3. Generalized Symmetric $f$-biderivations

The following definition introduce the notion of generalized symmetric $f$-biderivation related to symmetric $f$-biderivation for a lattice.

Definition 3.1. Let $(L, \wedge, \vee)$ be a lattice, $D(.,):. L \times L \rightarrow L$ be a symmetric $f$-biderivation and $\Delta(.,):. L \times L \rightarrow L$ be a symmetric mapping. We call $\Delta$ a generalized symmetric $f$-biderivation related to $D$, if it satisfies the following condition

$$
\Delta(x \wedge y, z)=(\Delta(x, z) \wedge f(y)) \vee(f(x) \wedge D(y, z))
$$

for all $x, y, z \in L$. The mapping $\delta: L \rightarrow L$ defined by $\delta(x)=\Delta(x, x)$ is called the trace of generalized symmetric $f$-biderivation $\Delta$.

Obviously, a generalized symmetric $f$-biderivation $\Delta$ on $L$ satisfies the relation

$$
\Delta(x, y \wedge z)=(\Delta(x, y) \wedge f(z)) \vee(f(y) \wedge D(x, z)) \text { for all } x, y, z \in L
$$

We remark that if $f=1$, the identity on $L$, then generalized symmetric 1 biderivation is a generalized symmetric biderivation on $L$ and if $D=\Delta$, then $\Delta$ is symmetric $f$-biderivation on $L$.

Now we give a few examples.

Example 3.1. Let $(L, \wedge, \vee)$ be a lattice with a least element 0 and $f: L \rightarrow L$ be a mapping satisfying $f(x \wedge y)=f(x) \wedge f(y)$. The mapping $D(x, y)=0$ is a symmetric $f$-biderivation on $L$ and $\Delta(x, y): L \times L \rightarrow L$ be defined by $\Delta(x, y)=$ $f(x) \wedge f(y)$ for all $x, y \in L$. Then we can easily verify that $\Delta$ is a generalized symmetric $f$-biderivation related to $D$ on $L$.

Example 3.2. Let $(L, \wedge, \vee)$ be a lattice with a least element 0 , where $0, a \in L$ and $f: L \rightarrow L$ be a mapping satisfying $f(x \wedge y)=f(x) \wedge f(y)$. The mapping $D(x, y)=0$ is a symmetric $f$-biderivation on $L$. Let $\Delta(x, y): L \times L \rightarrow L$ be defined by $\Delta(x, y)=(f(x) \wedge f(y)) \wedge a$ for all $x, y \in L$. Then it is easy to verify that $\Delta$ is a generalized symmetric $f$-biderivation related to $D$ on $L$.

Example 3.3. Let $(L, \wedge, \vee)$ be a non trivial lattice with a least element 0 and $f: L \rightarrow L$ be a mapping satisfying $f(x \vee y)=f(x) \vee f(y)$. The mapping $D(x, y)=0$ is a symmetric $f$-biderivation on $L$. Let $\Delta(x, y): L \times L \rightarrow L$ be defined by $\Delta(x, y)=f(x) \vee f(y)$ for all $x, y \in L$. Then it is easy to verify that $\Delta$ is not a generalized symmetric $f$-biderivation related to $D$ on $L$.

Now, we investigate some properties for generalized symmetric $f$-biderivations on $L$.

Proposition 3.1. Let $\Delta$ is a generalized symmetric $f$-biderivation related to a symmetric $f$-biderivation $D$. Then the mappings $\delta_{1}: L \rightarrow L, \delta_{1}(x)=\Delta(x, z)$ and $\delta_{2}: L \rightarrow L, \delta_{2}(y)=\Delta(x, y)$ are generalized $f$-derivations on $L$.

Proof. We have

$$
\begin{aligned}
\delta_{1}(x \wedge y) & =\Delta(x \wedge y, z) \\
& =(\Delta(x, z) \wedge f(y)) \vee(f(x) \wedge D(y, z)) \\
& =\left(\delta_{1}(x) \wedge f(y)\right) \vee\left(f(x) \wedge d_{1}(y)\right)
\end{aligned}
$$

In the last equation, the mapping $d_{1}: L \rightarrow L, d_{1}(y)=D(y, z)$ is a $f$-derivation on $L$, where $D$ is the symmetric $f$-biderivation. Hence the mapping $\delta_{1}$ is a generalized $f$-derivation on $L$.

Theorem 3.1. Let $(L, \wedge, \vee)$ be a lattice, $f: L \rightarrow L$ be a mapping satisfying $f(x \wedge y)=f(x) \wedge f(y)$ for all $x, y \in L$. Let $\Delta$ be a generalized symmetric $f$ biderivation related to a symmetric $f$-biderivation $D, \delta$ be the trace of $\Delta$ and $d$ be the trace of $D$. Then
(i) $D(x, y) \leqslant \Delta(x, y)$ for all $x, y \in L$.
(ii) $\Delta(x, y) \leqslant f(x)$ and $\Delta(x, y) \leqslant f(y)$,
(iii) $\Delta(x, y) \leqslant f(x \wedge y)$,
(iv) $d(x) \leqslant \delta(x) \leqslant f(x)$
(v) $d(x)=f(x) \Rightarrow \delta(x)=f(x)$
for all $x, y \in L$.

Proof. (i) Since

$$
\begin{aligned}
\Delta(x, y) \wedge D(x, y) & =\Delta(x \wedge x, y) \wedge D(x, y) \\
& =[(\Delta(x, y) \wedge f(x)) \vee(f(x) \wedge D(x, y))] \wedge D(x, y) \\
& =[(\Delta(x, y) \wedge f(x)) \vee D(x, y)] \wedge D(x, y) \\
& =D(x, y)
\end{aligned}
$$

by using Proposition 2.1 (i) and ( $L 4$ ), we have $D(x, y) \leqslant \Delta(x, y)$.
(ii) From $(i)$, we get $\Delta(x, y)=(\Delta(x, y) \wedge f(x)) \vee D(x, y)$ which implies

$$
\begin{aligned}
\Delta(x, y) \vee f(x) & =[(\Delta(x, y) \wedge f(x)) \vee D(x, y)] \vee f(x) \\
& =(\Delta(x, y) \wedge f(x)) \vee(D(x, y) \vee f(x)) \\
& =(\Delta(x, y) \wedge f(x)) \vee f(x))=f(x)
\end{aligned}
$$

by using (L3), Proposition 2.1 (i) and (L4), we have $\Delta(x, y) \leqslant f(x)$. Since $\Delta$ is symmetric, we have also $\Delta(x, y) \leqslant f(y)$.
(iii) It directly follows from (ii).
(iv) It follows from (i) and (ii).
$(v)$ It directly follows from (iv).
Corollary 3.1. Let $(L, \wedge, \vee)$ be a lattice and $f: L \rightarrow L$ be a mapping. Let $\Delta$ be a generalized symmetric $f$-biderivation related to a symmetric $f$-biderivation $D$. Let the least element be 0 and the greatest element be 1 of $L$ and $f(0)=0$. Then $\Delta(0, x)=\Delta(x, 0)=0$ and $\Delta(1, x)=\Delta(x, 1) \leqslant f(x)$ for all $x \in L$.

Proof. Follows directly from the Theorem 3.1 (ii).
Theorem 3.2. Let $(L, \wedge, \vee)$ be a modular lattice and $f: L \rightarrow L$ be a mapping. Let $\Delta$ be a generalized symmetric $f$-biderivation related to a symmetric $f$ biderivation $D, \delta$ be the trace of $\Delta$ and $d$ be the trace of $D$. Then
(i) $\delta(x \wedge y)=(\delta(x) \wedge f(y)) \vee(f(x) \wedge d(y)) \vee D(x, y)$
(ii) $D(x, y) \leqslant \delta(x \wedge y), \delta(x) \wedge f(y) \leqslant \delta(x \wedge y), f(x) \wedge d(y) \leqslant \delta(x \wedge y)$ for all $x, y \in L$.

Proof. (i) Using Proposition 2.1(i) and Theorem 3.1 (iv), we have

$$
\begin{aligned}
\delta(x \wedge y) & =\Delta(x \wedge y, x \wedge y) \\
& =(\Delta(x, x \wedge y) \wedge f(y)) \vee(f(x) \wedge D(y, x \wedge y)) \\
= & {[\{(\Delta(x, x) \wedge f(y)) \vee(f(x) \wedge D(x, y))\} \wedge f(y)] } \\
& \vee[f(x) \wedge\{(D(y, x) \wedge f(y)) \vee(f(x) \wedge D(y, y))\}]
\end{aligned}
$$

Since $L$ is modular lattice, therefore

$$
\begin{aligned}
\delta(x \wedge y)=[(\delta(x) \wedge f(y)) \vee\{ & D(x, y) \wedge f(x) \wedge f(y)\}] \\
& \vee[\{f(x) \wedge D(x, y) \wedge f(y)\} \vee(f(x) \wedge d(y))]
\end{aligned}
$$

Using Proposition 2.1(i), the last equation gives

$$
\delta(x \wedge y)=[(\delta(x) \wedge f(y)) \vee D(x, y) \vee(f(x) \wedge d(y))]
$$

for all $x, y \in L$.
(ii) Directly follows from $(i)$.

Theorem 3.3. Let $(L, \wedge, \vee)$ be a modular lattice and $f: L \rightarrow L$ be a mapping. Let $\Delta$ be a generalized symmetric $f$-biderivation related to a symmetric $f$ biderivation $D$ and $\delta$ be the trace of $\Delta$. Then $d(x) \wedge d(y) \leqslant \delta(x) \wedge \delta(y) \leqslant \delta(x \wedge y)$ for all $x, y \in L$.

Proof. Since $\delta(x) \wedge f(y) \leqslant \delta(x \wedge y)$ by Theorem 3.2 (ii) and $\delta(y) \leqslant f(y)$ by Theorem 3.1 (iv), we have $\delta(x) \wedge \delta(y) \leqslant \delta(x) \wedge f(y) \leqslant \delta(x \wedge y)$. Using again Theorem 3.1 (iv), we get $d(x) \wedge d(y) \leqslant \delta(x) \wedge \delta(y)$.

Keeping in view Example 3.3, we have the following lemma.
Lemma 3.1. Let $(L, \wedge, \vee)$ be a non trivial lattice with a least element 0 and $f: L \rightarrow L$ be an onto mapping satisfying $f(x \wedge y)=f(x) \wedge f(y)$. Let the mapping $\Delta(x, y)=f(x) \vee f(y)$ related to $D(x, y)=0$ be a generalized symmetric $f$-biderivation. Then for $f(x) \leqslant f(z)$, the lattice $L$ is modular.

Proof. Since $D(x, y)=0$, so for all $x, y, z \in L$, we have $(f(x) \vee f(y)) \wedge f(z)=$ $(\Delta(y, x) \wedge f(z)) \vee(f(y) \wedge D(z, x))=\Delta(y \wedge z, x)=f(x) \vee f(y \wedge z)=f(x) \vee(f(y) \wedge f(z))$ hence $L$ is a modular lattice.

Definition 3.2. Let $(L, \wedge, \vee)$ be a lattice, $\Delta$ be a generalized symmetric $f$ biderivation related to a symmetric $f$-biderivation $D, \delta$ be the trace of $\Delta$. If $x \leqslant y$ implies $\delta(x) \leqslant \delta(y)$, then $\delta$ is called an isotone mapping.

We remark that if $\delta(1)=1$, since $\delta(1) \leqslant f(1)$, we have $f(1)=1$, where 1 is the greatest element of $L$.

Proposition 3.2. Let $(L, \wedge, \vee)$ be a lattice and $\Delta$ be a generalized symmetric $f$-biderivation related to a symmetric $f$-biderivation $D, \delta$ be the trace of $\Delta$. Then $\delta$ is an isotone mapping if and only $\delta(x) \vee \delta(y) \leqslant \delta(x \vee y)$.

Proof. Since $x \leqslant x \vee y$ and $y \leqslant x \vee y$ and $\delta$ is an isotone mapping, we have $\delta(x) \leqslant \delta(x \vee y)$ and $\delta(y) \leqslant \delta(x \vee y)$, so $\delta(x) \vee \delta(y) \leqslant \delta(x \vee y)$. Conversely, let $\delta(x) \vee \delta(y) \leqslant \delta(x \vee y)$ and $x \leqslant y$. Since $x \vee y=y$, we have $\delta(x) \vee \delta(y) \leqslant \delta(y)$. Also it is known that $\delta(y) \leqslant \delta(x) \vee \delta(y)$. Hence we obtain $\delta(x) \vee \delta(y)=\delta(y)$, so $\delta(x) \leqslant \delta(y)$.

Theorem 3.4. Let $(L, \wedge, \vee)$ be a modular lattice with greatest element $1, f$ : $L \rightarrow L$ be a mapping satisfying $f(x \wedge y)=f(x) \wedge f(y)$ for all $x, y \in L$. Let $\Delta$ be a generalized symmetric $f$-biderivation related to a symmetric $f$-biderivation $D$, $\delta$ be the trace of $\Delta$. Then the following conditions are equivalent:
(i) $\delta$ is an isotone mapping
(ii) $\delta(x \wedge y)=\delta(x) \wedge \delta(y)$
(iii) $\delta(x)=f(x) \wedge \delta(1)$ for all $x, y \in L$.

Proof. $(i) \Rightarrow(i i)$. Since $x \wedge y \leqslant x$ and $x \wedge y \leqslant y$ and $\delta$ is an isotone mapping, we have

$$
\delta(x \wedge y) \leqslant \delta(x) \text { and } \delta(x \wedge y) \leqslant \delta(y)
$$

So $\delta(x \wedge y) \leqslant \delta(x) \wedge \delta(y)$. By Theorem 3.3, we have $\delta(x) \wedge \delta(y) \leqslant \delta(x \wedge y)$. Hence $\delta(x) \wedge \delta(y)=\delta(x \wedge y)$.
$(i i) \Rightarrow(i)$. Let $\delta(x \wedge y)=\delta(x) \wedge \delta(y)$ and $x \leqslant y$. Since $x \wedge y=x$, we get $\delta(x)=\delta(x \wedge y)=\delta(x) \wedge \delta(y) \leqslant \delta(y)$.
$(i) \Rightarrow(i i i)$. Since $y \leqslant 1$ and $\delta$ is an isotone mapping, we have $\delta(y) \leqslant \delta(1)$. Since $\delta(y) \leqslant f(y)$, by Theorem 3.1 (iv), then we have $\delta(y) \leqslant f(y) \wedge \delta(1)$. By Theorem 3.2 (ii), we have $\delta(y) \wedge f(x) \leqslant \delta(y \wedge x)$. Taking $y=1$, we get $\delta(1) \wedge f(x) \leqslant \delta(x)$ for all $x \in L$. Hence we have $\delta(x)=f(x) \wedge \delta(1)$.
(iii) $\Rightarrow(i)$. Let $\delta(x)=f(x) \wedge \delta(1)$ and $x \leqslant y$. Since $x \wedge y=x$, we have $\delta(x)=\delta(x \wedge y)=f(x \wedge y) \wedge \delta(1)=(f(x) \wedge f(y)) \wedge \delta(1)=(f(x) \wedge \delta(1)) \wedge(f(y) \wedge \delta(1))=$ $\delta(x) \wedge \delta(y)$. Hence $\delta(x) \leqslant \delta(y)$.

TheOrem 3.5. Let $(L, \wedge, \vee)$ be a distributive lattice with greatest element 1 , $f: L \rightarrow L$ be a mapping satisfying $f(x \wedge y)=f(x) \wedge f(y)$ for all $x, y \in L$. Let $\Delta$ be a generalized symmetric $f$-biderivation related to a symmetric $f$-biderivation $D, \delta$ be the trace of $\Delta$. Then the following conditions are equivalent:
(i) $\delta$ is an isotone mapping
(ii) $\delta(x \wedge y)=\delta(x) \wedge \delta(y)$
(iii) $\delta(x)=f(x) \wedge \delta(1)$ for all $x, y \in L$.

Proof. Since every modular lattice is distributive therefore proof is straight forward as in Theorem 3.4.

Note that if $f: L \rightarrow L$ is a lattice homomorphism, then $f(L)$ is a sublattice of $L$.

Proposition 3.3. Let $(L, \wedge, \vee)$ be a lattice and $f: L \rightarrow L$ be a lattice homomorphism. Let $\Delta: L \times L \rightarrow L$ be a generalized symmetric $f$-biderivation related to $D$ on $L$ defined by $\Delta(x, y)=f(x) \wedge f(y)$. Then $f(L)$ is a distributive lattice if and only if $\Delta$ is joinitive.

Proof. Let $\Delta$ be a joinitive. By definition of $\Delta$, we have $\Delta(x \vee y, z)=$ $f(x \vee y) \wedge f(z)=(f(x) \vee f(y)) \wedge f(z)$. Since $\Delta$ is joinitive, therefore $\Delta(x \vee y, z)=$ $\Delta(x, z) \vee \Delta(y, z)=(f(x) \wedge f(z)) \vee(f(y) \wedge f(z))$. Hence $(f(x) \vee f(y)) \wedge f(z)=$ $(f(x) \wedge f(z)) \vee(f(y) \wedge f(z))$. Thus $f(L)$ is distributive lattice. Conversely let $f(L)$ be a distributive lattice. Then $f(x) \wedge f(y \vee z)=f(x) \wedge(f(y) \vee f(z))=(f(x) \wedge f(y)) \vee$ $(f(x) \wedge f(z))$, which along with definition of $\Delta$ implies $\Delta(x, y \vee z)=\Delta(x, y) \vee \Delta(x, z)$. Hence $\Delta$ is joinitive.

Taking $f=1$, the identity on $L$, we get the following corollary, which is an improvement of the result of Y. Ceven []Ceven19 Proposition 3.

Corollary 3.2. Let $(L, \wedge, \vee)$ be a lattice and $\Delta: L \times L \rightarrow L$ be a symmetric biderivation on $L$ defined by $\Delta(x, y)=x \wedge y$. Then $L$ is a distributive lattice if and only if $\Delta$ is joinitive.

Theorem 3.6. Let $(L, \wedge, \vee)$ be a distributive lattice, $f: L \rightarrow L$ be a mapping. Let $\Delta_{1}$ and $\Delta_{2}$ be generalized symmetric $f$-biderivations related to a same symmetric $f$-biderivation $D$. The mapping $\Delta_{1} \wedge \Delta_{2}$ defined by $\left(\Delta_{1} \wedge \Delta_{2}\right)(x, y)=$
$\Delta_{1}(x, y) \wedge \Delta_{2}(x, y)$, is a generalized symmetric $f$-biderivation related to the symmetric $f$-biderivation $D$.

Proof.

$$
\begin{aligned}
\left(\Delta_{1} \wedge \Delta_{2}\right)(x \wedge y, z)= & \Delta_{1}(x \wedge y, z) \wedge \Delta_{2}(x \wedge y, z) \\
= & {\left[\left(\Delta_{1}(x, z) \wedge f(y)\right) \vee(f(x) \wedge D(y, z))\right] } \\
& \wedge\left[\left(\Delta_{2}(x, z) \wedge f(y)\right) \vee(f(x) \wedge D(y, z))\right] \\
= & {\left[\left(\Delta_{1}(x, z) \wedge f(y)\right) \wedge\left(\Delta_{2}(x, z) \wedge f(y)\right)\right] \vee(f(x) \wedge D(y, z)) } \\
= & {\left[\Delta_{1}(x, z) \wedge \Delta_{2}(x, z) \wedge f(y)\right] \vee(f(x) \wedge D(y, z)) } \\
= & \left(\left(\Delta_{1} \wedge \Delta_{2}\right)(x, z) \wedge f(y)\right) \vee(f(x) \wedge D(y, z))
\end{aligned}
$$

This completes the proof.
Theorem 3.7. Let $(L, \wedge, \vee)$ be a distributive lattice, $f: L \rightarrow L$ be a mapping. Let $\Delta_{1}$ and $\Delta_{2}$ be generalized symmetric $f$-biderivations related to a same symmetric $f$-biderivation $D$. The mapping $\Delta_{1} \vee \Delta_{2}$ defined by $\left(\Delta_{1} \vee \Delta_{2}\right)(x, y)=$ $\Delta_{1}(x, y) \vee \Delta_{2}(x, y)$, is a generalized symmetric $f$-biderivation related to the symmetric $f$-biderivation $D$.

Proof.

$$
\begin{aligned}
\left(\Delta_{1} \vee \Delta_{2}\right)(x \wedge y, z)= & {\left[\Delta_{1}(x \wedge y, z) \vee \Delta_{2}(x \wedge y, z)\right] } \\
= & \left(\Delta_{1}(x, z) \wedge f(y)\right) \vee(f(x) \wedge D(y, z)) \\
& \vee\left[\left(\Delta_{2}(x, z) \wedge f(y)\right) \vee(f(x) \wedge D(y, z))\right] \\
= & {\left[\left(\Delta_{1}(x, z) \wedge f(y)\right) \vee\left(\Delta_{2}(x, z) \wedge f(y)\right)\right] \vee(f(x) \wedge D(y, z)) } \\
= & {\left[\left(\Delta_{1}(x, z) \vee \Delta_{2}(x, z)\right) \wedge f(y)\right] \vee(f(x) \wedge D(y, z)) } \\
= & \left(\left(\Delta_{1} \vee \Delta_{2}\right)(x, z) \wedge f(y)\right) \vee(f(x) \wedge D(y, z)),
\end{aligned}
$$

This completes the proof.

## References

[1] N. O. Alshehri. Generalized derivations of lattices. Int. J. Contemp. Math. Sci., 5(13)(2010), $629=640$.
[2] R. Balbes and P. Dwinger. Distributive Lattices. University of Missouri Press, Columbia, United States, 1974.
[3] A. J. Bell. The co-information lattice. In: 4th International Symposium on Independent Component Analysis and Blind Signal Separation (ICA2003) (pp. 921-926). Nara, Japan, 2003.
[4] G. Birkhoff. Lattice Theory. American Mathematical Society, New York, 1940.
[5] T. S. Blyth. Lattices and Ordered Algebraic Structures, Springer-Verlag Londan Limited, 2005.
[6] C. Carpineto and G. Romano. Information retrieval through hybrid navigation of lattice representations. Int. J. Hum.-Comput. Stud., 45(5)(1996), 553-578.
[7] Y. Çeven and M. A. Özturk. On $f$-derivations of lattices. Bull. Korean Math. Soc. , 45(4)(2008), 701-707.
[8] Y. Çeven. Symmetric bi-derivations of lattices. Quaest. Math., 32(2)(2009), 241-245, 553578.
[9] Y. Çeven. On Characterization of lattices using the generalized symmetric bi-derivations. Bull. Int. Math. Virtual Inst., 9(1)(2019), 95-102.
[10] M. A. Chauhdhry and A. R. Khan. On symmetric $f$-biderivations of lattices. Quaest. Math., 35(2)(2012), 203-207.
[11] G. Durfee. Cryptanalysis of RSA using algebraic and lattice methods, Ph. D. Dissertation, Department of computer science, Stanford University, 2002.
[12] M. A. Javed and M. Aslam. A note on $f$-derivations of BCI-algebras. Commun. Korean Math. Soc., 24(3)(2009), 321-331.
[13] Gy. Maksa. On the trace of symmetric bi-derivations. C.R. Math. Rep. Acad. Sci. Canada, 9(6)(1987), 303-307.
[14] E. C. Posner. Derivation of prime rings. Proc. Am. Math. Soc., 8(6)(1957), 1093-1100.
[15] R. S. Sandhu. Role hierarchies and constraints for lattice-based access controls, in: Bertino, E., Kurth, H., Martella, G., Montolivo, E. (Eds.). Proceedings of the 4 th European Symposium on Research in Computer Security (pp. 6579). Springer Science and Business Media, 1996.
[16] M. Sapanc, M.A. Özturk and Y. B. Jun. Symmetric bi-derivations on prime rings. East Asian Math. J., 15(1)(1999), 105-109.
[17] J. Vukman. Symmetric bi-derivations on prime and semi-prime rings. Aequationes Math., 38(2-3)(1989), 245-254.
[18] X. L. Xin, T. Y. Li and J. H. Lu. On derivations of lattices. Inform. Sci., 178(2)(2008), 307-316.

Received by editors 15.05.2020; Revised version 26.06.2017; Available online 06.07.2020.
Department of Mathematics, Govt. M.A.O College, Lahore, Pakistan, Department of Mathematics, GC University, Lahore, Pakistan

E-mail address: anjum2512@yahoo.com, aslam298@gcu.edu.pk


[^0]:    2010 Mathematics Subject Classification. 06B35, 06B99, 16B70, $16 B 99$.
    Key words and phrases. Lattice, poset, Modular lattice, Distributive lattice, symmetric $f$ biderivation, Generalized symmetric $f$-biderivation.

    Communicated by Daniel A. Romano.

